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, 	8 — 2x2 	—  7 2-( X 4- 2- )b< — 2)  _   ,  — 2 (x  ____2: 
2 	SCORE: 	/ 21 PTS Consider the function j (x) — 	2  

X + X —2 	(2( -1-. 2_)CY —  1 ) 	N — I 
[a] Find the domain of f . 	 SI 0 PLI El Er) 

11 

[b] Find all intercepts of f . 
id.rr 	= 2  (2 cD) 

—24 (3) -4) 

[c] Find all asymptotes (vertical, horizontal and/or slant) of f . 

VA x =j 

-21  7,2 
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Write log., 	32x
in terms of the simplest possible logarithms. 	 SCORE: 	/ 8 PTS 

Vy 3  (X 5  +1) 

1 0j2_,X 

-105 X- 	 I 
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><  4  D 

e;-.4 
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Write 
3 
— [21n x + 5 ln(x 2  + 1)] - 3 ln(2x + 7) as the logarithm of a single quantity. SCORE: 	/ 6 PTS 
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Find the domain of f (x) = 
.T 2  — 4 

• x 2 + 8x + 16 
SCORE: 	/ 21 PTS 

   

-4 > 0 

6c-k- 2.)6(  -2) 
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Solve log , (1— x) + log 2  (5 — x) = 5 . 
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xt)--  --fix -21= 0 

- Xx-t- 

SCORE: 	/ 21 PTS 
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7+13x-8x3 
Find all asymptotes (vertical, horizontal and/or slant) of f (x) = 	 SCORE: 	/ 21 PTS 

2x2 -x-3 
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TURN IN THIS PART OF THE MIDTERM 

BEFORE YOU PICK UP YOUR CALCULATOR 



Math 41 Midterm 3 
8:30am — 9:20am Version R 
Wed Jun 20, 2012 

NAME YOU ASKED TO BE CALLED IN CLASS: 

   

TURN IN THE OTHER PART OF THE MIDTERM 
BEFORE YOU PICK UP YOUR CALCULATOR 

Animals of an endangered species were released into a game preserve, and the population t months later fit the 	SCORE: 	/ 21 PTS 
1320  

logistic model p(t)= 
1+10e-°°91  • 

[a] How many animals of the species were released into the preserve ? 

Pc()) 
1320  
4-16 

1-- 1 2._JD 

[b] When did the population reach 792 animals ? 
Find the exact answer, as well as a numerical answer rounded to 4 decimal places. 

-4- loe-°4'e 7qi 
7c°126  1042.°cit) 

a 	
10,e: 

0  e-0,qt 

kc, 	 -  0:9t 

15 

3 ,008ci 
f,-t_ 011-45 
LA-102_ 

The number of bacteria in a culture fits the exponential growth model. The culture originally contained 23 1 5 	SCORE: 	/ 21 PTS 

bacteria, and doubles every 4 hours. 

[a] Find a model for the number of bacteria after t hours. 

pa-)  cLet 
p co) 	sic::: 	 ---- 23\ ,•-•c_,6t 

r 	= 2(2?)15-) 2 s 

----  E-4 	 (--(,)  2:315-e-c"--53t 

%--) 

2- 	0 , 1-7 
[b] How many bacteria will there be after 7 hours ? 

e  °J-13?-) (7) 772.-7 
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